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7 100kN/mM%E#BZ5 | 1.00 | 000 ~ 184 12823 |3m%E#BZ 5 -~ - -] 100kN/ %825 | 1.00 | 11.51 ~ 2180 12823 |3m%EiBz% ~ -
s 1.00 | 1.84 ~ 962 100.00 | =St | 0.00 ~ 9.62| 2.47 12.98 st 1.00 | 6.00 ~ 1151 100.00 | =nst | 6.00 ~ 2180 2.47 12.98
2 100kN/m#E#2% | 1.00|0.00 ~ 139 121.07 |3m%E#BZ 5 -~ -] 100kN/ %825 | 1.00 | 1236 ~ 2085 | 121.07 |3m%E#Bz% ~
s 1.00 | 1.39 ~ 917 100.00 | =St | 0.00 ~ 9.17 | 2.41 12.64 st 1.00 | 6.00 ~ 1236 100.00 | =nst | 6.00 ~ 2085 2.41 12.64
3 100kN/m##8x5 | 1.00 | 0.00 ~ 231 135.99 |3m%E#BZ 5 ~ -] 100kN/mZ#8z% | 1.00 | 10.60 ~ 20.86| 135.99 |3mZ#Bz25 ~
s 1.00 | 231 ~ 1009 100.00 | =nst | 0oo ~ 1009 2.64 13.83 st 1.00 | 6.00 ~ 1060 100.00 | =5t | 5.00 ~ 20.86| 2.64 13.83
4 100kN/m%E#8z% | 1.00 | 000 ~ 236 136.92 |3mEiBz% ~ -] 100kN/ %8825 | 1.00 | 1086 ~ 2342 136.92 |3m%EiBz% ~
s 1.00 | 236 ~ 1015 100.00 | =nst | 0oo ~ 1015| 2.56 13.44 st 1.00 | 6.00 ~ 1086 100.00 | =nLst | 6.00 ~ 2342 2.66 13.44
5 100kN/ M=% | 1.00 | 000 ~ 219 134.03 |3m%E#BZ 5 ~ -] 100kN/ %825 | 1.00 | 12.03 ~ 34.01 134.03 |3m%E#BZ 5 ~
s 1.00 | 219 ~ 998 100.00 | =nhst | 0oo ~ 998 | 283 14.87 st 1.00 | 6.00 ~ 1203 100.00 | =nst | 6.00 ~ 3401| 2.83 14.87
P 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.48 68.34 | TN | 0o0o ~ 548| 1.76 923 st 1.00 | 6.00 ~ 6.00 6834 | TSy | 5,00 ~ 6.00)| 1.76 928
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 469 5844 | FnRS | 000 ~ 4.69 | 1.83 9.60 st 1.00 | 6.00 ~ 5.00 58.44 | =hs | 5.00 ~ 6.00| 1.83 9.60
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -1 3mEBZD ~
s 1.00 | 0.00 ~ 4.78 59.51 | =S | 000 ~ 0.00| 1.73 9.05 st 1.00 | 6.00 ~ 5.00 59.51 | =h4 | 5.00 ~ 6.00| 1.73 9.05
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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